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2QH����� 7KLV�GD\�LV�KRO\�WR�WKH�/RUG�\RXU�*RG� 
0DQ\��� /HW�XV�FRPH�UHDG\�WR�VHH��KHDU��DQG�WRXFK�WKH�:RUG�RI�*RG� 
 
2QH����� 'R�QRW�PRXUQ�RU�ZHHS��DQG�GR�QRW�EH�JULHYHG� 
0DQ\��� +RZ�FDQ�ZH�EH�VDG�ZKHQ�ZH�FDQ�H[SHULHQFH�*RG·V�:RUG� 
 DQG�NQRZ�*RG·V�ORYH�WKURXJK�RXU�ZRUVKLS�WRJHWKHU" 
 
$OO������� 7KH�MR\�RI�WKH�/RUG�LV�RXU�VWUHQJWK�� 
 /HW�XV�FRPH�WRJHWKHU�WR�ZRUVKLS�WKH�*RG�RI�MR\��VWUHQJWK��DQG�ORYH� 
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2�*RG��ZKR�JLYHV�XV�VWUHQJWK�ZKHQ�ZH�IHHO�ZHDN�� 
ZH�JDWKHU�WR�KHDU�\RXU�:RUG�� 
VLQJ�\RXU�VRQJV��DQG�JLYH�\RX�SUDLVH�� 
:H�NQRZ�WKDW�\RX�DUH�DOZD\V�ZLWK�XV��DQG�ZH�DUH�JUDWHIXO�� 
+HOS�XV�WR�OLYH�RXU�OLYHV�LQ�ZD\V�WKDW�VKRZ�\RX�DUH�QHDU�� 
7KDQN�\RX�IRU�\RXU�SUHVHQFH�DQG�FRQVWDQW�FDUH�IRU�XV�—� 
LQ�ZRUVKLS��DQG�LQ�HDFK�GD\�RI�RXU�OLYHV� 
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/RYLQJ�*RG��ZH�UHFDOO�WKH�WLPHV�ZKHQ�\RXU�:RUG�IHHOV�GLVWDQW�� 
DQG�ZKHQ�ZH�IRUJHW�KRZ�PXFK�\RX�ORYH�XV�� 
:H�OHW�RXU�HJRV�WDNH�KROG��DQG�ZH�WUHDW�RWKHUV�DV�WKUHDWV�WR�RXU�VHQVH�RI�VHOI�� 
:H�IRUJHW�\RXU�ZRUGV�RI�FRPIRUW��ORYH��DQG�FDUH�� 
:H�IRUJHW�WR�ORRN�WR�\RXU�:RUG�IRU�JXLGDQFH�� 
:H�IRUJHW�WKDW�\RX�DUH�RXU�XOWLPDWH�VRXUFH�RI�MR\�� 
)RUJLYH�XV��2�*RG� 
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2QH��� 7KH�+RO\�2QH·V�LQVWUXFWLRQ�LV�SHUIHFW� UHYLYLQJ�RQH¶V�YHU\�EHLQJ�� 
 *RG·V�ODZV�DUH�IDLWKIXO��PDNLQJ�QDLYH�SHRSOH�ZLVH�� 
 *RG·V�UHJXODWLRQV�DUH�ULJKW��JODGGHQLQJ�WKH�KHDUW�� 
 *RG·V�FRPPDQGV�DUH�SXUH��JLYLQJ�OLJKW�WR�WKH�H\HV�� 
 .QRZ�WKDW�\RX�DUH�ORYHG�DQG�IRUJLYHQ� 
0DQ\��� 7KDQNV�EH�WR�*RG� 
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*ORU\�EH�WR�WKH�)DWKHU��DQG�WR�WKH�6RQ�  
DQG�WR�WKH�+RO\�*KRVW� 

DV�LW�ZDV�LQ�WKH�EHJLQQLQJ��LV�QRZ��DQG�HYHU�VKDOO�EH� 
ZRUOG�ZLWKRXW�HQG� �$PHQ��$PHQ� 
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-HVXV�UHWXUQHG�WR�*DOLOHH�LQ�WKH�SRZHU�RI�WKH�6SLULW��DQG�QHZV�DERXW�KLP�
VSUHDG�WKURXJK�WKH�ZKROH�FRXQWU\VLGH���+H�ZDV�WHDFKLQJ�LQ�WKHLU�V\QD�
JRJXHV��DQG�HYHU\RQH�SUDLVHG�KLP���+H�ZHQW�WR�1D]DUHWK��ZKHUH�KH�KDG�
EHHQ�EURXJKW�XS��DQG�RQ�WKH�6DEEDWK�GD\�KH�ZHQW�LQWR�WKH�V\QDJRJXH��DV�
ZDV�KLV�FXVWRP��+H�VWRRG�XS�WR�UHDG��QG�WKH�VFUROO�RI�WKH�SURSKHW�,VDLDK�ZDV�
KDQGHG�WR�KLP��8QUROOLQJ�LW��KH�IRXQG�WKH�SODFH�ZKHUH�LW�LV�ZULWWHQ� 

´7KH�6SLULW�RI�WKH�/RUG�LV�RQ�PH� 
����EHFDXVH�KH�KDV�DQRLQWHG�PH 
����WR�SURFODLP�JRRG�QHZV�WR�WKH�SRRU� 
+H�KDV�VHQW�PH�WR�SURFODLP�IUHHGRP�IRU�WKH�SULVRQHUV 
����DQG�UHFRYHU\�RI�VLJKW�IRU�WKH�EOLQG� 
WR�VHW�WKH�RSSUHVVHG�IUHH� 
�WR�SURFODLP�WKH�\HDU�RI�WKH�/RUG·V�IDYRU�µ 

7KHQ�KH�UROOHG�XS�WKH�VFUROO��JDYH�LW�EDFN�WR�WKH�DWWHQGDQW�DQG�VDW�GRZQ��
7KH�H\HV�RI�HYHU\RQH�LQ�WKH�V\QDJRJXH�ZHUH�IDVWHQHG�RQ�KLP���+H�EHJDQ�E\�
VD\LQJ�WR�WKHP��´7RGD\�WKLV�VFULSWXUH�LV�IXOILOOHG�LQ�\RXU�KHDULQJ�µ 
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2XU�)DWKHU��ZKR�DUW�LQ�KHDYHQ��+DOORZHG�EH�7K\�QDPH� � 

7K\�NLQJGRP�FRPH��7K\�ZLOO�EH�GRQH�RQ�HDUWK�DV�LW�LV�LQ�KHDYHQ�� 
*LYH�XV�WKLV�GD\�RXU�GDLO\�EUHDG��DQG�IRUJLYH�XV�RXU�WUHVSDVVHV� 

DV�ZH�IRUJLYH�WKRVH�ZKR�WUHVSDVV�DJDLQVW�XV�� 
$QG�OHDG�XV�QRW�LQWR�WHPSWDWLRQ��EXW�GHOLYHU�XV�IURP�HYLO�� 

)RU�7KLQH�LV�WKH�NLQJGRP�DQG�WKH�SRZHU�DQG�WKH�JORU\�IRUHYHU��$PHQ� 
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:H�VKDUH�IURP�ZKDW�ZH�KDYH�DQG�IURP�ZKR�ZH�DUH� 
DV�D�VLJQ�RI�RXU�GHVLUH�WR�EULQJ�JRRG�QHZV�WR�WKH�SRRU�� 
0D\�WKHVH�JLIWV�EULQJ�OLJKW�WR�WKRVH�LQ�QHHG�� 
DQG�SXW�WKH�MR\�RI�WKH�/RUG�LQ�WKHLU�KHDUWV�  
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3UDLVH�*RG�IURP�ZKRP�DOO�EOHVVLQJV�IORZ� 
3UDLVH�*RG�DOO�FUHDWXUHV�KHUH�EHORZ� 
3UDLVH�*RG�DERYH��\H�KHDYHQO\�KRVW� 

&UHDWRU��&KULVW��DQG�+RO\�*KRVW� �$PHQ� 
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2�*RG�RI�DOO�JLIWV��ZH�MRLQ�ZLWK�-HVXV�LQ�SURFODLPLQJ�WKH�\HDU�RI�\RXU�IDYRU�� 
%OHVV�RXU�JLIWV�DQG�EOHVV�XV�DV�ZH�VHHN�WR�EULQJ�MR\�DQG�FRPIRUW�WR�WKRVH�
ZKR�DUH�XQNQRZQ�WR�XV��DQG�WR�WKRVH�ZKR�DUH�QHDU�DQG�EHORYHG��$PHQ 
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&KULVW�KDV�QR�ERG\�EXW�\RXUV�� 
1R�KDQGV��QR�IHHW�RQ�HDUWK�EXW�\RXUV�� 
<RXUV�DUH�WKH�H\HV�WKURXJK�ZKLFK�KH�ORRNV�FRPSDVVLRQ�RQ�WKLV�ZRUOG�� 
<RXUV�DUH�WKH�IHHW�ZLWK�ZKLFK�KH�ZDONV�WR�GR�JRRG�� 
<RXUV�DUH�WKH�KDQGV�WKURXJK�ZKLFK�KH�EOHVVHV�DOO�WKH�ZRUOG�� 
<RXUV�DUH�WKH�KDQGV��\RXUV�DUH�WKH�IHHW��\RXUV�DUH�WKH�H\HV��\RX�DUH�KLV�ERG\�� 
&KULVW�KDV�QR�ERG\�QRZ�RQ�HDUWK�EXW�\RXUV� 
$PHQ� 
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3DVWRU�.HUU\�5LFKDUGVRQ��,QWHULP�3DVWRU� 
3DWULFLD�&DXFKRQ��'LUHFWRU�RI�0XVLF 

%HFN\�.HQQHG\��/LWXUJLVW 
$OO�WKH�&RQJUHJDWLRQ��0LQLVWHUV�WR�WKH�:RUOG 
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(PDLO�IRU�&KXUFK�$GPLQLVWUDWLRQ 
'HO�0RJDYHUR�����FFZLOWRQ#JPDLO�FRP 
&KXUFK�3KRQH�1XPEHU�����-���-���� 

:HEVLWH���FFZLOWRQ�RUJ 
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(PDLO��NHUU\ZULFKDUGVRQ#FRPFDVW�QHW 
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Announcements 
,I�\RX�QHHG�RU�ZDQW�D�YLVLW�E\�WKH�SDVWRU� 

SOHDVH�FRQWDFW�WKH�FKXUFK�RIILFH����-���-������0HVVDJHV�DUH�XVXDOO\�UHWXUQHG�E\�WKH�QH[W� 
EXVLQHVV�GD\� 

RU�WKH�SDVWRU�GLUHFWO\�DW����-���-���� 
 
 

On The Calendar 
$QQXDO�0HHWLQJ��-DQXDU\�����IROORZLQJ�ZRUVKLS 

6HQLRU�%RRN�&OXE��-DQXDU\�����������DP�YLD�=RRP 

'HDFRQ·V�0HHWLQJ��-DQXDU\����������30�YLD�=RRP 

6SULQJ�3OD\�5HKHDUVDOV�%HJLQ�)HEUXDU\��WK�DW���-���30 


